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OFUL G 151,491
—JtEay 54,240
bH < Kt 40,000 *53E 123 25,440
- AAEHS 20,0003 120 122 28,800
- ANESHIEXE 24,350
Em) 51,4003 12& »43] 2,468
nsstn 420,790& 13 »43] 21,882
- E2FE0=E 58,920

_15_




SN ESCYUNE
B s AR (E=TR0E)
G5l oleiE ol (BRT AR SRSl
SN HB SR (BIH) - A - B S 01l &k o S
- o= ° I T ° - [EEMREECES &= 0:”/.:"%
- 2540l & 130,000& = 12% = 12& 18,720
- 208 01 &f~25 0] 8¢
110,000& = 12% = 12& 15,840
- 15601 &~20E 0] 2t
80,000& * 15%H » 12& 14,400
- 1080l &k~154 0] et
60,0008 » 8 * 123 5,760
- 5@ 0l &a~10E 0] et
50,0008 = 78 = 123 4,200
-FE2R=E 1,680
2B 50,000& * 2% * 123 1,200
5 40,0003 » 1€ 123 480
—HeEeALY 3,620
He4e
6,284,0002 =4.8% 1% 128 3,620
S IFIE S 720
A= 30,000& x2H »12& 720
—J=gR=gets 480
- AFHDIA 20,000& * 2% * 123 480
—otMRte|lgEY 480
SRt S el =g = 30,000 x1E« 123 360
- PESerd 2tel &t 10,0002 1H x12& 120
- NSXH2dLEHPR+H 960
1SUHE AKX 40,0003 x2H 12 960
—HAMAR G 1,200
- 39014 50,0003 »2ZH «12& 1,200
KA g 240
- 6= 016t 20,0003 x1H«12& 240
-2 AR 4,260,000 «%*1H 122 4,601
03 HMHS=AHI 99,840 99,840
OdHZ A 130,000& * 64ZH = 12& 99,840
04 wWESS2XH| 104,520 103,080
OuEE x| 104,520
— B 24,720
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SN ESCYUNE
Hu: #ESHAY (2RO
Gl QHERAH(E=TE USRI SESIA) A
SN I SRI(S) - NRAY - B sk S 2
0f 4 o8
4~55 140,000 18123 1,680
6~72 130,000& = 12% = 12& 18,720
8~92 120,000& = 3¥ » 12&8 4,320
-w& 69,600
stE 200,000& * 123 2,400
JIEtW 140,000 «40H x 123 67,200
-Jls 10,200
6~72 130,000 18 x12& 1,560
- 8~10= 120,000 6 H 122 8,640
05 ZEFIH 178,319 173,351 4,968
Og=2H 1,783, 183,000 / 128 *120% 178,319
06 JHAIXI&H] 297,792 289,496 8,296
OE=H 297,792
07 SIt2 4| 29,957 30,709 AT52
Og=2H 539,210,000& /12& *1/30+20 29,957
08 JIEtAE = 157,367 157,095 272
OF:RES 44,936
-Jl2s 3,049,000 x1H x 123 36,588
-IIEx 1,200
bH < Xt 40,0003 x1H x 123 480
HAEHIS 20,000 x3ZE 123 720
- =2 RE 2,566
ESRLI=E 130,000 18123 1,560
-dgB8x 140,000 x1H x 122 1,680
-8
36,588,000 & /128 »66%+1/30+20 1,342
OHRAZE 112,431
A= 1,657,000 *x3H x 12 59,652
-32x 1,657,000& x90%*3% 4,474
-IIE4 1,680
bH < Xt 40,0002 x2H =122 960
- HAEHS 20,0003 3 «12& 720
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SN ESCYUNE
M MRS (E=CYUS)
CHol: 012y (ST SHE) (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
- XU2RY 10,283
A2 224 4,110
o224 6,173
- skt 30,0003 x1H *x12& 360
-&2s4 2,160
- 2501 & 130,000 1 =128 1,560
- 5~10E 0 Bt 50,000& x1H 128 600
— HHZ A 130,000 *3Y «12& 4,680
- nEEXH| 120,000& x3H x 122 4,320
= Fo=wlls]l 5,966
— JHAI X & H 59,652,000& *x16.7% 9,962
— HAJIE AMH|
59,652,000 /128 «1/30%x20L 3,314
- Mg 8 XH| 105,000 x3H x 122 3,780
- e syl 50,000& x3H x12& 1,800
203 YRF&H| 22,040 21,160 880
01 JIASIHRF=AH| 11,000 10,000 1,000
OstE 11,000
02 HIAJAHERFF=XH| 2,640 2,760 A 120
OEAF=PNPIPSES Sl 40,000 x66H 2,640
04 ENSIELRFZAHI 8,400 8,400 0
(@JmA=iani; 250,000& x12& 3,000
OPIE==1=In 100,000 = 12& 1,200
O A X & 350,000& x12& 4,200
204 HRPHAHH| 110,640 109,500 1,140
01 AMIHIHZAH| 12,600 12,600 0
Oostd 750,000& x12& 9,000
Ont& 100,000 x3H x 122 3,600
02 ANZE2=xH| 84,840 83,700 1,140
OstE 750,000& x12& 9,000
OL= 250,000 x14H x12& 42,000
OL=; 155,000& x5 x 122 9,300
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s=cags
Y2 E A (B2
2 (E2E

I H

2
Jor o

H0 Jo
e~
Jim
I3
to

x

SN C(BH) - NRAY - HES Aro Soe HlmE2
ora 140,000 *8H 122 13,440
0892 105,000 *7H =123 8,820
o102 95,0003 »2E «12& 2,280
03 ESEZYFH 13,200 13,200 0
Ol &=l 50,0003 x22%H =122 13,200
J2ZH(ESYUHERIELESAH) 136,492 131,300 5,192
=&l 136,492 131,300 5,192
201 Lpt3H| 59,272 50,600 8,672
01 At 2eld] 50,772 42,100 8,672
OgBt=2H| 14,652
-Jl2+=8Hl 14,652
Oo2gd=+¢ 18,630
—d=Aag 18,630
= 30,0003 »1H 2562 7,680
54 50,0003 x 18 +219 10,950
Or=1=1:] 17,490
-JlE2=gtl 17,490
02 =229l 8,500 8,500 0
OsEHYR 700,000& 128 8,400
OslAHEEZRZ 10,000& *10Y 100
202 O4dl 77,220 80,700 A 3,480
01 =Wodl 77,220 80,700 A 3,480
OJl20tl 77,220
2SS (EECYUE) 145,000 145,000 0
HEAHAUXE(E=TE S 145,000 145,000 0
HEHHKI= 145,000 145,000 0
702 JI3HES 145,000 145,000 0
01 JISHEZ 145,000 145,000 0
OF3=1iF=, 145,000
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